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Mathematics

EOT-2 Exam Coverage –

Grade 5 General

With Answers

Al Asayel School C2



Exam Pattern



Page No: 5 Exercise ( 3 - 8 )Learning Outcome :Use place-value patterns to divide a decimal by a power 

of 10

914

5,050

1.64

5,580

332

4.448



Page No: 9 Exercise (1-8)
Learning Outcome :Estimate quotients of decimals to determine if 

calculations are reasonable

𝟒𝟎 ÷ 𝟖 = 5 35÷ 𝟓 = 7

21÷ 𝟑 = 7 54÷3 = 18



Page No: 9 Exercise 1-8Learning Outcome :Estimate quotients of decimals to determine if 

calculations are reasonable



Page No: 17 Exercise 3 – 10Learning Outcome :Use place-value understanding and equivalent representations 

to divide a decimal by a whole number

0.03 0.07

0.16 0.21

0.18 0.45

1.06 1.13



Page No: 39 Exercise 1 – 4
Learning Outcome: Use benchmark numbers to estimate the sums and differences of 

fractions

Q1)
𝟒

Q2)
𝟑
+

𝟐 𝟑+ 𝟏

𝟑 𝟓 𝟒

Q3)
𝟑

𝟏+ 𝟓

𝟖
Q4)

𝟑

𝟏𝟎
+

𝟒

𝟓

Will the sum be greater than 1 or less than ? Use the numer line and explain how 

you can use benchmark numbers to justify .

Greater than 1 Less  than 1

Less  than 1 Greater than 1



Page No: 41 Exercise 1 –2
Learning Outcome: Use benchmark numbers to estimate the sums and differences of 

fractions

Without actually calculating . Use what you 

know about fractions to estimate the sum

Circle the best estimate Circle the best estimate

Explain your choice
Explain your choice



Page No:45 Exercise 1 – 4
Learning Outcome: Use a representation to add fractions with unlike 

denominators

𝟏.
𝟏
+

𝟑
=

𝟐 𝟏𝟎
+ +

2.
𝟐
+

𝟓
=

𝟑 𝟗

3.
𝟓
+

𝟏
=

𝟖 𝟒
4.
𝟑
+

𝟏
=

𝟒 𝟔
+

𝟏

𝟒

𝟏

𝟒

𝟏

𝟒

𝟏

𝟔

5

10

3

10

6 5

9 9

𝟓

𝟖
+
𝟐

𝟖

9

12

2

12



Page No:49 Exercise 1-4Learning Outcome: Explain how to add fractions with unlike denominators (1-4) 49

Which multiple can you use as a like denominator to add the fractions ? Choose all 

correct answers .

A. 6

B. 8

C. 12

D. 24

𝟐.
𝟏
+

𝟑
=

𝟔 𝟖

A. 12

B. 16

C. 24

D. 30

𝟑 𝟒
𝟏.

𝟐
+

𝟑
=

𝟑.
𝟑

+
𝟏

=
𝟓 𝟒

𝟒.
𝟐

+
𝟏

=
𝟑 𝟔

12

20

5

20

4

6

1

6



Page No:53 Exercise 1-4Learning Outcome: Use a representation to subtract fractions with unlike denominators

Complete the equation with Equivalent fractions that have like denominators

𝟏.
𝟓
− 

𝟏
=

𝟖 𝟐
- -

𝟐.
𝟐
−

𝟑
=

𝟑 𝟔

- -
𝟑.
𝟑
−

𝟐
=

𝟒 𝟑
𝟒.
𝟓
−

𝟏
=

𝟔 𝟒

5

8

4

8

4

6

3

6

9

12

10

12

3

12

8

12



Page No:85 Exercise 1-4Learning Outcome: Use a representation to multiply a whole number by a 

fraction

What is the product ?Use a representation to solve.

𝟏)
𝟑

𝟓
× 𝟒 𝟐)

𝟓

𝟔
× 𝟓

𝟑)
𝟐

𝟓
× 𝟖 𝟒)

𝟑

𝟖
× 𝟕

𝟏𝟐

𝟓
𝒐𝒓 𝟐

𝟐

𝟓

𝟐𝟓

𝟔
𝒐𝒓 𝟒

𝟏

𝟔

𝟏𝟔

𝟓
𝒐𝒓 𝟑

𝟏

𝟓

𝟐𝟏

𝟖
𝒐𝒓 𝟐

𝟓

𝟖



Page No:99 Exercise 1-4

Page No:100 Exercise 9
Learning Outcome: Multiply a fraction by a fraction

Complete the equation.

9.Complete the equation.

𝟏
×

𝟏
=
𝟏

𝟑 𝟐𝟒

1.
𝟏

𝟓 𝟓
×

𝟏
= × = 2.

𝟐

𝟑 𝟖
×

𝟕
= × =

4.
𝟑

𝟕
×

𝟒

𝟓
=

3.
𝟐

𝟑 𝟗
×

𝟒
=

55

1 1 1

25
2

3

7

8

14

24

𝟖

𝟐𝟕

𝟏𝟐

𝟑𝟓

8



Page No:107 Exercise 1-2Learning Outcome: Use an area model to represent multiplication of mixed numbers

Complete the area model what is the product?

Q1) 1
𝟏

𝟑
× 1

𝟏

𝟐
? Q2) 1

𝟑

𝟒
× 𝟒

𝟏

𝟐

1

1

𝟏

𝟑

1

𝟏

𝟑

𝟏

𝟐
𝟏

𝟔

1

𝟑

𝟒

4

𝟏𝟐

𝟒

= 𝟒 + 𝟑 =7

= 𝟏 +
𝟏

𝟑
+
𝟏

𝟐
+

𝟏

𝟔
= 𝟐

4



Page No: 13 Exercise 1 – 8
Learning Outcome: Represent division of decimals by whole numbers using equal sharing or

equal grouping

1. 3.5 ÷ 7 = 2. 4.53 ÷ 3=

3. 2.04 ÷ 4 = 4. 2.8 ÷ 2 =

5. 3.9 ÷ 3 = 6. 6.9 ÷ 3 =

7. 0.72 ÷ 8 = 8. 2.4 ÷ 4=

0.5

0.51

1.3

0.09

1.51

1.4

2.3

0.6



Page No: 30 Exercise 5Learning Outcome: Represent division of decimals by whole numbers using equal sharing or 

equal grouping

5 . Use the decimals grade to solve 

2.4 ÷ 6 = d

2.4 ÷ 6 =

0.4



Page No: 25 Exercise 1-4Learning Outcome: Write an equivalent equation containing whole numbers to solve a division 

equation

108÷ 𝟏𝟐

9 7

6 7

518÷ 𝟕𝟒

276÷46 112÷ 𝟏𝟔



Page No: 31 Exercise 14Learning Outcome: Write an equivalent equation containing whole numbers to solve a 

division equation

14. Which equivalent expression uses power of 10 to help you 

solve 52.71 ÷ 0.21 ?

A. 5,271 ÷ 21

B. 5,271 ÷ 0.21

C. 52.71 ÷ 21

D. 52.71 ÷ 2.1



Page No: 58 Exercise 10-12Learning Outcome: Subtract fractions with unlike denominators

10. Eddie had
𝟑

𝟒
quart of water for his soccer game . By half time ,

he drank
𝟐

𝟓
quart of water . How much water dose Eddie have left?

𝟑

𝟒
−

𝟐

𝟓
=

𝟏𝟓

𝟐𝟎
−

𝟖

𝟐𝟎
=

𝟕

𝟐𝟎
quarts



Page No: 58 Exercise 10-12Learning Outcome: Subtract fractions with unlike denominators

12. Alan is walking on a path that is
𝟏𝟏

𝟏𝟐
mile long . He has

walked
𝟕

𝟗
𝒎𝒊𝒍𝒆 how much farther does he have to walk ?

11. Isabel bought this sandwich .She ate
𝟓

𝟖
foot of the

sandwich .How much of the sandwich is left .

𝟕

𝟏𝟎
−
𝟓

𝟖
=
𝟐𝟖

𝟒𝟎
−
𝟐𝟓

𝟒𝟎
=

𝟑

𝟒𝟎
𝒇𝒐𝒐𝒕

𝟏𝟏

𝟏𝟐
−
𝟕

𝟗
=
𝟑𝟑

𝟑𝟔
−
𝟐𝟖

𝟑𝟔
=

𝟓

𝟑𝟔
𝒎𝒊𝒍𝒆



Page No: 62 Exercise 10-12Learning Outcome: Subtract fractions with unlike denominators

𝟏
𝟏

𝟐
+ 𝟐

𝟐

𝟓
+ 𝟐 =1+2+2+

𝟏

𝟐
+

𝟐

𝟓
= 𝟓

𝟗

𝟏𝟎
miles

𝟑
𝟐

𝟑
+ 𝟏

𝟏

𝟖
= 𝟑 + 𝟏 +

𝟐

𝟑
+

𝟏

𝟖
= 𝟒 +

𝟏𝟗

𝟐𝟒
=4

𝟏𝟗

𝟐𝟒
𝒇𝒕



Page No: 62 Exercise 10-12Learning Outcome: Subtract fractions with unlike denominators

4+
𝟕

𝟏𝟎
+ 𝟐 +

𝟑

𝟒
= 𝟔 +

𝟏𝟒

𝟐𝟎
+

𝟏𝟓

𝟐𝟎
= 𝟔 +

𝟐𝟗

𝟐𝟎
= 𝟔 +

𝟐𝟎

𝟐𝟎
+

𝟗

𝟐𝟎
= 𝟕

𝟗

𝟐𝟎



Page No:65 Exercise 1- 8Learning Outcome: Subtract mixed numbers with unlike denominators



Page No:65 Exercise 1- 8Learning Outcome: Subtract mixed numbers with unlike denominators

What is the difference .

𝟑 𝟏
𝑸𝟒) 𝟐 − 𝟏

𝟓 𝟐

𝟑 𝟏
𝑸𝟑) 𝟒 − 𝟏

𝟒 𝟑

𝟕 𝟑
𝑸𝟔) 𝟑 − 𝟏

𝟏𝟎 𝟖

𝟓 𝟏
𝑸𝟓) 𝟓 − 𝟑

𝟗 𝟔

𝟓 𝟏
𝑸𝟖) 𝟒 − 𝟑

𝟖 𝟓

𝟏 𝟏
𝑸𝟕) 𝟔 − 𝟑

𝟐 𝟑

3
𝟓

𝟏𝟐

2
𝟕

𝟏𝟖

1
𝟏

𝟏𝟎

2
𝟏𝟑

𝟒𝟎

1
𝟏𝟕

𝟒𝟎

3
𝟏

𝟔



Page No:69 Exercise 1-8Learning Outcome : Add and subtract mixed numbers with regrouping



Page No:69 Exercise 1-8Learning Outcome : Add and subtract mixed numbers with regrouping

What is the sum or difference .

1
𝟏𝟗

𝟐𝟒

4
𝟑

𝟖

9
𝟓

𝟏𝟐

5
𝟏𝟕

𝟏𝟖

𝟗

𝟐𝟎
5
𝟓

𝟐𝟒



Page No:95 Exercise 1-6Learning Outcome: Use a representation to multiply a fraction by a fraction

1.
𝟏

𝟐 𝟐
×

𝟏
= 2.

𝟓

𝟔 𝟓
×

𝟑
=

3. 4.

5.
𝟒

𝟓 𝟔
×

𝟓
= 6.

𝟕

𝟖 𝟑
×

𝟏
=

𝟏

𝟒

𝟏𝟓

𝟑𝟎
=
𝟏

𝟐

𝟏𝟎

𝟐𝟒

𝟗

𝟐𝟎

𝟐𝟎

𝟑𝟎

𝟕

𝟐𝟒



Page No:122 Exercise 14Learning Outcome: Use a representation to multiply a fraction by a fraction

The area model represents what product ?

𝟒
A.

𝟏
×

𝟑

𝟓 𝟔

𝟏

B. ×
𝟑

𝟒

C.
𝟏

𝟒
×

𝟓

𝟔
D.

𝟒

𝟓
×

𝟓

𝟔



Page No: 103 Exercise 5-6Learning Outcome: Find the area of a rectangle with fractional side lengths by 

multiplying the side lengths

5 . What is the area of a square with side lengths of
𝟏

𝟑
inch?

6. A piece of paper is 1
𝟏

𝟒

𝐢𝐧𝐜𝐡𝐞𝐬 𝐥𝐨𝐧𝐠 𝐚𝐧𝐝 𝟐 𝐢𝐧𝐜𝐡𝐞𝐬 𝐰𝐢𝐝𝐞 .𝐰𝐡𝐚𝐭 𝐢𝐬 𝐭𝐡𝐞 𝐚𝐫𝐞𝐚 𝐨𝐟 𝐭𝐡𝐞 𝐩𝐢𝐜𝐞𝐬 𝐨𝐟 𝐩𝐚𝐩𝐞𝐫

𝟏

𝟑
×
𝟏

𝟑
=
𝟏

𝟗
𝑺𝒒𝒖𝒂𝒓𝒆 𝒊𝒏𝒄𝒉

𝟐×𝟏
𝟏

𝟒
= 𝟐

𝟐

𝟒
𝒐𝒓 𝟐

𝟏

𝟐
𝑺𝒒𝒖𝒂𝒓𝒆 𝒊𝒏𝒄𝒉𝒆𝒔



Page No: 104 Exercise 7-9
Learning Outcome: Find the area of a rectangle with fractional side lengths by 

multiplying the side lengths

𝟑

𝟒
×
𝟕

𝟖
=
𝟐𝟏

𝟑𝟐
𝑺𝒒𝒖𝒂𝒓𝒆𝒎𝒊𝒍𝒆𝒔

2×𝟏
𝟑

𝟒
= 𝟐 +

𝟔

𝟒
= 𝟐 +

𝟒

𝟒
+

𝟐

𝟒
= 𝟑

𝟐

𝟒
𝒐𝒓 𝟑

𝟏

𝟐
𝑺𝒒𝒖𝒂𝒓𝒆 𝒇𝒆𝒆𝒕



Page No: 104 Exercise 7-9
Learning Outcome: Find the area of a rectangle with fractional side lengths by 

multiplying the side lengths

𝟒

𝟓
×
𝟗

𝟏𝟎
=
𝟑𝟔

𝟓𝟎
𝒐𝒓

𝟏𝟖

𝟐𝟓
𝑺𝒒𝒖𝒂𝒓𝒆𝒎𝒊𝒍𝒆𝒔



Page No:111 Exercise 9-10
Learning Outcome: Multiply mixed numbers by writing the mixed numbers as fractions and then 

multiplying fractions

2
𝟏

𝟒
×𝟔

𝟐

𝟑
= 𝟏𝟐 +

𝟒

𝟑
+

𝟔

𝟒
+

𝟐

𝟏𝟐
= 𝟏𝟓 𝒑𝒐𝒖𝒏𝒅𝒔

𝟏
𝟏

𝟐
×𝟏

𝟐

𝟓
= 𝟏 +

𝟐

𝟓
+
𝟏

𝟐
+
𝟐

𝟏𝟎
= 𝟐

𝟏

𝟏𝟎
𝒎𝒊𝒍𝒆𝒔



Page No:112 Exercise 11-12Learning Outcome: Multiply mixed numbers by writing the mixed numbers as fractions and then 

multiplying fractions

𝟐
𝟏

𝟑
×𝟑

𝟏

𝟐
= 𝟔 +

𝟐

𝟐
+
𝟑

𝟑
+
𝟏

𝟔
= 𝟖

𝟏

𝟔
𝒑𝒐𝒖𝒏𝒅𝒔



Page No: 115 Exercise 1-4Learning Outcome: Explain how the size of the factors impacts the size of the 

product without performing the multiplication



Page No: 115 Exercise 1-4Learning Outcome: Explain how the size of the factors impacts the size of the 

product without performing the multiplication



Page No:21 Exercise 5 – 8
Learning Outcome: Write an equivalent equation containing whole numbers to solve 

a division equation

𝟗 ÷ 𝟎. 𝟑 = 𝟗𝟎 ÷ 𝟑 = 𝟑𝟎 𝒈𝒍𝒂𝒔𝒔𝒆𝒔

12÷ 𝟏. 𝟓 = 𝟏𝟐𝟎 ÷ 𝟏𝟓 = 𝟖 pieces



Page No:21 Exercise 5 – 8Learning Outcome: Write an equivalent equation containing whole numbers to solve 

a division equation

24÷ 𝟎. 𝟕𝟓 = 𝟐𝟒𝟎𝟎 ÷ 𝟕𝟓 = 𝟑𝟐

30÷ 𝟏. 𝟐𝟓 = 𝟑𝟎𝟎𝟎 ÷ 𝟏𝟐𝟓 = 𝟐𝟒



Page No:22 Exercise 10Learning Outcome: Write an equivalent equation containing whole 

numbers to solve a division equation

104÷ 𝟏. 𝟔 = 𝟏𝟎𝟒𝟎 ÷ 𝟏𝟔 = 𝟔𝟓



Page No: 50 Exercise 10-12Learning Outcome: Add fractions with unlike denominators

𝟏

𝟔
+
𝟏

𝟒
=

𝟐

𝟏𝟐
+
𝟑

𝟏𝟐
=

𝟓

𝟏𝟐
𝒈𝒂𝒍𝒍𝒐𝒏𝒔

𝟐

𝟑
+
𝟏

𝟏𝟐
=

𝟖

𝟏𝟐
+
𝟏

𝟏𝟐
=

𝟗

𝟏𝟐
𝒐𝒓

𝟑

𝟒
𝒇𝒐𝒐𝒕



Page No: 50 Exercise 10-12Learning Outcome: Add fractions with unlike denominators

𝟐×𝟒

𝟗×𝟒
+
𝟑×𝟗

𝟒×𝟗
=

𝟖

𝟑𝟔
+
𝟐𝟕

𝟑𝟔
=
𝟑𝟓

𝟑𝟔



Page No: 107 Exercise 3-6
Learning Outcome: Use an area model to find partial products when multiplying 

mixed numbers

What is the product ?Use an area model to solve

𝑸𝟑 ) 𝟏
𝟏

𝟒
×𝟏

𝟏

𝟓
𝑸𝟒 )

𝟑

𝟓
× 𝟒

𝟏

𝟐

𝑸𝟓 ) 𝟑
𝟏

𝟑
×𝟏

𝟏

𝟐
𝑸𝟒 ) 𝟐

𝟏

𝟒
× 𝟐

𝟐

𝟑

𝟏 +
𝟏

𝟒
+
𝟏

𝟓
+
𝟏

𝟐𝟎
= 𝟏

𝟏

𝟐

𝟏𝟐

𝟓
+
𝟑

𝟏𝟎
=
𝟐𝟒

𝟏𝟎
+
𝟑

𝟏𝟎
=
𝟐𝟕

𝟏𝟎
= 𝟐

𝟕

𝟏𝟎

3+
𝟏

𝟑
+

𝟑

𝟐
+

𝟏

𝟔
= 5

4+
𝟐

𝟒
+

𝟒

𝟑
+

𝟐

𝟏𝟐
= 𝟔


